

## GENESEE COUNTY ROAD COMMISSION

Serving the motorists of Genesee County for more than 100 years

211 W. Oakley Street Flint, MI 48503-3995 Website: www.gcrc.org

Board meetings: first and third Tuesdays at 10:00 A.M.

Phone: (810) 767-4920 Toll Free: (800) 249-4027 Fax (810) 767-5373 – Administration

Fax (810) 767-3634 - Maintenance

DATE:

September 27, 2021

TO:

Asphalt & Concrete LLC Ace-Saginaw Paving Co.

Lois Kay Contracting Co. Asphalt Specialists, Inc.

**SUBJECT:** 

**Bid Tabulation** 

Misty Meadows Subdivision GCRC No. 489-67-W50775 Grand Blanc Township

Enclosed, for your information, please find the "Itemized Bid" for the project referenced above that was bid upon by your company on September 27, 2021.

Sincerely,

GENESEE COUNTY ROAD COMMISSION

Richard Hill, P.E.

Design Department Manager

Enclosure

cc:

Kevin Cook – Wade Trim

Scott Bennett – Grand Blanc Township

EJ

AP

GG

TK

File

## **Bid Comparison**

**Contract ID:** 67-W50775

**Description:** Road resurfacing

GCRC No. 489-67-W50775 **Location:** 

Misty Meadows Subdivision Grand Blanc Township

Projects(s):

GRC2060.01F

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$232,700.00	-5.72%	0.00%
1	(_1020) Asphalt & Concrete, LLC	\$246,843.00	0.00%	6.07%
2	(00656) Ace-Saginaw Paving Company	\$298,115.00	20.77%	28.11%
3	(00745) Lois Kay Contracting Co.	\$304,732.00	23.45%	30.95%
4	(03601) Asphalt Specialists, Inc.	\$341,895.00	38.50%	46.92%

Line Pay Item Code	Quantity	Unite	(a) ENGINEEDIG E		(4) A - m la - la Q O - m - m	-4- 110	(2) Ace-Saginaw Pa	aving
Description Code	Quantity	Ullits	(0) ENGINEER'S ES  Bid Price	Total	(1) Asphalt & Concre <b>Bid Price</b>	ete, LLC <b>Total</b>	Company <b>Bid Price</b>	Total
0001 2030001	5	Ea	\$450.00	\$2,250.00	\$300.00	\$1,500.00	\$460.00	\$2,300.00
Culv, Rem, Less than 24 inch								
0002 2030011	1	Ea	\$350.00	\$350.00	\$300.00	\$300.00	\$550.00	\$550.00
Dr Structure, Rem								
0003 2040020	40	Ft	\$15.00	\$600.00	\$9.00	\$360.00	\$32.00	\$1,280.00
Curb and Gutter, Rem								
0004 2047011	700	Syd	\$10.00	\$7,000.00	\$9.00	\$6,300.00	\$25.00	\$17,500.00
_ Pavt, Rem, Modified								
0005 2050010	50	Cyd	\$10.00	\$500.00	\$10.00	\$500.00	\$45.00	\$2,250.00
Embankment, CIP								
0006 2050016	200	Cyd	\$10.00	\$2,000.00	\$14.00	\$2,800.00	\$45.00	\$9,000.00
Excavation, Earth								
0007 2057021	15	Cyd	\$20.00	\$300.00	\$38.00	\$570.00	\$80.00	\$1,200.00
_ Subgrade Undercutting, Type II, N	1odified							
0008 2080020	10	Ea	\$100.00	\$1,000.00	\$100.00	\$1,000.00	\$120.00	\$1,200.00
Erosion Control, Inlet Protection, Fa	bric Drop							
0009 2080036	870	Ft	\$2.00	\$1,740.00	\$2.50	\$2,175.00	\$2.00	\$1,740.00
Erosion Control, Silt Fence								
0010 3027031	150	Ton	\$25.00	\$3,750.00	\$38.00	\$5,700.00	\$52.00	\$7,800.00
_ Aggregate Base, Modified								
0011 3067031	140	Ton	\$25.00	\$3,500.00	\$32.00	\$4,480.00	\$52.00	\$7,280.00
_ Maintenance Gravel, Modified								
0012 4010018	2	Ea	\$500.00	\$1,000.00	\$300.00	\$600.00	\$300.00	\$600.00
Culv End Sect, 18 inch					***************************************			
0013 4010131	110	Ft	\$60.00	\$6,600.00	\$64.00	\$7,040.00	\$52.00	\$5,720.00
Culv, Cl A, 12 inch								
0014 4010133	52	Ft	\$80.00	\$4,160.00	\$89.00	\$4,628.00	\$70.00	\$3,640.00
Culv, Cl A, 18 inch								
0015 4030005	2	Ea	\$600.00	\$1,200.00	\$550.00	\$1,100.00	\$720.00	\$1,440.00
Dr Structure Cover, Adj, Case 1								
0016 4030006	8	Ea	\$500.00	\$4,000.00	\$550.00	\$4,400.00	\$560.00	\$4,480.00
Dr Structure Cover, Adj, Case 2								

Line Pay Item Code Quanti		linite	(a) ENGINEERIG FOTIMATE		(4) A 1- 14 0 0		(2) Ace-Saginaw Paving	
Description Code	Quantity	Ullits	(0) ENGINEER'S E	STIMATE	(1) Asphalt & Conc Bid Price	rete, LLC <b>Total</b>	Company Bid Price	Tota
0017 4030280	10	Ft	\$200.00	\$2,000.00	\$450.00	\$4,500.00	\$200.00	\$2,000.00
Dr Structure, Adj, Add Depth		1 (	Ψ200.00	Ψ2,000.00	Ψ+30.00	Ψ+,500.00	Ψ200.00	Ψ2,000.00
0018 4037050  _ Adjusting Water Manhole	2	Ea al	\$600.00	\$1,200.00	\$1,100.00	\$2,200.00	\$800.00	\$1,600.00
0019 5010002 Cold Milling HMA Surface	12,500	Syd	\$2.00	\$25,000.00	\$2.00	\$25,000.00	\$2.01	\$25,125.00
0020 5010025 Hand Patching	170	Ton	\$120.00	\$20,400.00	\$130.00	\$22,100.00	\$157.00	\$26,690.00
0021 5010033 HMA, 13A	1,400	Ton	\$80.00	\$112,000.00	\$92.50	\$129,500.00	\$92.00	\$128,800.00
0022 5017011 _ HMA Driveway, Special	170	Syd	\$60.00	\$10,200.00	\$24.00	\$4,080.00	\$71.00	\$12,070.00
0023 8020016 Curb and Gutter, Conc, Det	18 B2	Ft	\$25.00	\$450.00	\$45.00	\$810.00	\$200.00	\$3,600.00
0024 8070095 Post, Mailbox	1	Ea	\$100.00	\$100.00	\$150.00	\$150.00	\$100.00	\$100.00
0025 8127051 _ Maintaining Traffic	1	LSUM	\$10,000.00	\$10,000.00	\$6,500.00	\$6,500.00	\$11,150.00	\$11,150.00
0026 8167011 _ Turf Establishment, Perfor	1,900 mance	Syd	\$6.00	\$11,400.00	\$4.50	\$8,550.00	\$10.00	\$19,000.00
Bid Totals:			A	\$232,700.00		\$246,843.00		\$298,115.00

Line Pay Item Code	Quantity	Units	(3) Lois Kay Contra	ictina Co.	(4) Asphalt Speciali	sts. Inc.		
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2030001	5	Ea	\$350.00	\$1,750.00	\$500.00	\$2,500.00		\$0.00
Culv, Rem, Less than 24 inch								
0002 2030011	1	Ea	\$450.00	\$450.00	\$1,250.00	\$1,250.00		\$0.00
Dr Structure, Rem								
0003 2040020	40	Ft	\$35.00	\$1,400.00	\$26.00	\$1,040.00		\$0.00
Curb and Gutter, Rem								
0004 2047011	700	Syd	\$35.50	\$24,850.00	\$20.00	\$14,000.00		\$0.00
_ Pavt, Rem, Modified								
0005 2050010	50	Cyd	\$25.00	\$1,250.00	\$50.00	\$2,500.00		\$0.00
Embankment, CIP								
0006 2050016	200	Cyd	\$47.50	\$9,500.00	\$32.00	\$6,400.00		\$0.00
Excavation, Earth								
0007 2057021	15	Cyd	\$120.00	\$1,800.00	\$110.00	\$1,650.00		\$0.00
_ Subgrade Undercutting, Type II, I			1					
0008 2080020	10	Ea	\$100.00	\$1,000.00	\$125.00	\$1,250.00		\$0.00
Erosion Control, Inlet Protection, Fa	•		<u></u>					
0009 2080036	870	Ft	\$1.00	\$870.00	\$2.50	\$2,175.00		\$0.00
Erosion Control, Silt Fence								
0010 3027031	150	Ton	\$50.00	\$7,500.00	\$52.00	\$7,800.00		\$0.00
_ Aggregate Base, Modified								
0011 3067031	140	Ton	\$1.00	\$140.00	\$1.00	\$140.00		\$0.00
_ Maintenance Gravel, Modified			1					
0012 4010018	2	Ea	\$375.00	\$750.00	\$770.00	\$1,540.00		\$0.00
Culv End Sect, 18 inch			1					
0013 4010131	110	Ft	\$85.25	\$9,377.50	\$80.00	\$8,800.00		\$0.00
Culv, Cl A, 12 inch			1 4407.00		<b>A</b> 40000	#0.700.00l		
0014 4010133	52	Ft	\$127.20	\$6,614.40	\$130.00	\$6,760.00		\$0.00
Culv, Cl A, 18 inch			<b>4075.00</b>	<b>#4.050.00</b>	<b></b>	<b>#4.000.00</b>		40.00
0015 4030005 Dr Structure Cover, Adj, Case 1	2	Ea	\$675.00	\$1,350.00	\$600.00	\$1,200.00		\$0.00
	^	F-	<b>6450.00</b>	#2 COO CO	ФГОО ОО	#4 000 00		#A AA
0016 4030006 Dr Structure Cover, Adj, Case 2	8	Ea	\$450.00	\$3,600.00	\$500.00	\$4,000.00		\$0.00
Di Siluciule Cover, Auj, Case 2								

Line	Pay Item Code	Quantity	Units	(3) Lois Kay Contra Bid Price	acting Co.	(4) Asphalt Special <b>Bid Price</b>	lists, Inc.	Bid Price	Total
0017		10	F.					Dia Filce	
	4030280 ructure, Adj, Add Depth	10	Ft	\$175.00	\$1,750.00	\$200.00	\$2,000.00		\$0.00
0018	4037050	2	Ea	\$1,850.00	\$3,700.00	\$3,000.00	\$6,000.00		\$0.00
	usting Water Manhole Cover,			\$1,030.00	\$3,700.00	φ3,000.00	\$0,000.00		φ0.00
0019	5010002	12,500	Syd	\$1.32	\$16,500.00	\$1.50	\$18,750.00		\$0.00
	Milling HMA Surface	12,300	Oyu	Ψ1.02	ψ10,300.00	ψ1.50	Ψ10,730.00		Ψ0.00
0020	5010025	170	Ton	\$148.53	\$25,250.10	\$200.00	\$34,000.00		\$0.00
	Patching	110		ψ110.00	Ψ20,200.10	Ψ200.00	ψο 1,000.00		Ψ0.00
0021	5010033	1,400	Ton	\$94.00	\$131,600.00	\$116.00	\$162,400.00		\$0.00
HMA,	13A	,		·	. ,	·	. ,		
0022	5017011	170	Syd	\$64.00	\$10,880.00	\$65.00	\$11,050.00		\$0.00
_ HM	_ HMA Driveway, Special								
0023	8020016	18	Ft	\$50.00	\$900.00	\$130.00	\$2,340.00		\$0.00
Curb	and Gutter, Conc, Det B2								
0024	8070095	1	Ea	\$250.00	\$250.00	\$250.00	\$250.00		\$0.00
Post,	Mailbox								
0025	8127051	1	LSUM	\$33,150.00	\$33,150.00	\$25,000.00	\$25,000.00		\$0.00
_ Mai	ntaining Traffic								
0026	8167011	1,900	Syd	\$4.50	\$8,550.00	\$9.00	\$17,100.00		\$0.00
_ Tur	f Establishment, Performance	)							
Bid To	Bid Totals:			\$304,732.00		\$341,895.00			
_					\$304,732.00		\$341,895.00		